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QUESTION 1

Which Junos Space application integrates with the Sky ATP application? 

A. Virtual Director 

B. Connectivity Services Director 

C. Security Director 

D. Network Director 

Correct Answer: C 

 

QUESTION 2

What are two design concepts for a Clos IP Fabric? (Choose two) 

A. All devices must be the same model 

B. All spine devices must connect to all spine devices 

C. All link connecting stages should be the same speed 

D. All leaf devices must connect to all spine devices 

Correct Answer: CD 

 

QUESTION 3

Which platform allows you to monitor any application instance in hybrid, public, private, and telco clouds
simultaneously? 

A. Junos Space SDK 

B. Connectivity Services Director 

C. AppFormix 

D. Contrail Cloud 

Correct Answer: C 

 

QUESTION 4

Click the Exhibit button. Exhibit: 
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Which EVPN/VXLAN scenario is shown in the exhibit for QFX5100-1? 

A. multihoming 

B. VPLS active-active 

C. MSTP 

D. MC-LAG 

Correct Answer: A 

 

QUESTION 5

Which statement is true regarding a hybrid cloud? 

A. A hybrid cloud must constitute at least three multi-cloud interconnections 

B. A hybrid cloud spans at least one public and one private cloud 

C. A hybrid cloud must span at least two public clouds 

D. A hybrid cloud only has an on-premises virtualization environment 

Correct Answer: B 
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